/

DOC NO:ELDD/3646 Pt. \ ) Page 1 of 1
CATEGORY AMENDMENT FOR 3 PHASE LOCO

DATE: 01.08.2024 AMENDMENT NO: 1074

AMM/3Phase
CLW/CRJ

Sub: Category Amendment for 3 phase Loco.

Please incorporate the following amendment sheet for the said loco. This is for your kind information and necessary action at your end please.

SL Qry/ QTY/LOCO ,
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO C&D NO : REMARKS
WAG-9HC l WAP-7 ,WAP-S_l
R/9/0049
1 29070259 03 1 Set 1Set Nil

SAND BOX ASSY.

Drg. No. have been updated to 1209-01.138-031 Alt.9,
s as per modification advice letter no. ELDD/3611/Pt.

dated 31.07.24 issued by Dy.CEE/D-lll with immediate
SAND BOX ASSY. 1209-01.138-031 Alt. 9 T317/001 8 8 8 Nil effect ¥ By-CEE/D-I

All other items will remain same.

Copy to:
1. CEE/LOCO 2.Dy.CME/ELB 3.Dy.CMM/M-I 4. Dy.CMM/Depot 5. Dy.CEE/I&D/HWH 6. Dy.CEE/I&D/DLI 7. CQAM 8. SSE/Doc (Mech) *

. Q)\ "M /5‘)"&‘”0‘*#&'(’ 3 "
< 6/ 0824 0&0 ' "‘,o?éw/\" \4

Prepared by Checked'by Reviewed by Issued by
SSE/D SSE/D , SEE/Design Dy.CEE/D-INl



DOC NO:ELDD/3646 Pt.
DATE: 01.08.2024

AMM/3Phase
CLW/CRJ

Sub: Category Amendment for 3 phase Loco.

{

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 1 of 1
AMENDMENT NO.: 1075

Please incorporate the following amendment sheet for the said loco. This is for your kind information and necessary action at your end please.

sL Qry/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO C&D NO REMARKS « .
WAG-9HC | WAP-7 | WAP-5 ‘
R/9/0017
1 29170280 WINDOWS FOR WAG-9, aw/ :IIIS/:/ s 03 1 Set 1 Set 1set |Alteration No. of Specification have been changed
t. I .
WAP-7, & WAP-5 from Alt.5 to Alt.6 , as per modification afivnce
= letter no. ELDD/3611/Pt. dated 01.08.24 issued by
Dy.CEE/D-IIl with immediate effect .
All other entries will remain same.
Copy to: ) , _
1. CEE/LOCO 2.Dy.CME/ELA 3.Dy.CMM/M-I 4. Dy.CMM/Depot 5. Dy.CEE/I&D/HWH 6. Dy.CEE/I&D/DLI 7. CQAM 8. SSE/Doc (Mech)

k{al e ‘2}
Prepared by

SSE/D

8

;w;\\\f\”‘

Checked by

SSE/D

S

Reviewed by
SEE/Design

2

\
Issued by

Dy.CEE/D-lII



DOC NO:ELDD/3646 Pt.

CATEGORY AMENDMENT FOR 3 PHASE LOCO

DATE: 20.08.2024

AMM/3PL
CLW/CRJ

Sub: Category Amendment for 3 phase Loco.

Page 1 of 8
AMENDMENT NO.: 1076

Please incorporate the following amendment sheet for the said loco. This is for your kind information and necessary action may please be taken from your end.

SL , Qry/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO 2D NO REMARKS
WAG-9HC | WAP-7 | WAP-5 :
4
L/9/0018A
_ CLW/ES/3/184 New Category seperated from L/9/0018 as per
1 New PL No. Distance Bolt for Panel 03 1 Set
© i N Alt.-F modification advice letter no. ELDD/3645 dated
. Section 18.07.24 issued by Dy.CEE/D-IIl with immediate
effect .
Note: b
DISTANCE BOLT M4x60 SST 3EHP431365P0001 | 01 | T035/420 12 12 12 12 |1 Procurement quantity will be as per in-house
production targets of locos for panel section
CLW/CRJ only. Not for ELAAU/Dankuni.
2.For further procurement tender should be floated
by clubbing of Category No. L/9/0018A and
DISTANCE BOLT M5x70 1209-15.443-175 01 T035/960 24 24 24 24 L/9/0018. ’
L/9/0018
Distance Bolt Qty. revised and Category seperated as per
Eq. Mounting, Roof. modification advice letter no. ELDD/3645 dated
2 | 29300137 (Eq = ’ CLW/ES/3/184 03 1Set . il .
Cable lying, Alt.-F 18.07.24 issued by Dy.CEE/D-INl with immediate
Connection,VB, VC, effect
) ) Note:
Testing Section) 1.Procurement quantity will be as per production
STUD BOLT M8x120 SST 3EHP130272P5198 01 T035/408 7 7 7 7 targets of locos for CLW/CRJ only. Not for
STUD BOLT M10x150 SST EHP 47 S ol
D —— SEHPL7O000POUIS 01 | T035/475 5 % N = 2.For further procurement tender should be floated
STUD BOLT M8x100 SST 01 | To3s/502 2 2 ;) 2 |byclubbing of Category No. L/9/0018A and
L/9/0018.
STUD BOLT M10x40 SST 01 T035/519 3 3 3 3
S Mool -
20.08: 2.4 /Q’J”" ks 21\
Prepared by Checked by Reviewed by Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-lII



DOC NO:ELDD/3646 Pt.
DATE: 20.08.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 2 of 8
AMENDMENT NO.: 1076

sL ary/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO B L NG REMARKS
WAG-9HC | WAP-7 | WAP-5
|
L/9/0021A
CLW/E 0187
3 New PLNo. | Misc. Hardware items for /Ai/?;\l/ 03 1 Set
Panel Section '
CON WASHER 10.5X23 SPR ST 3EHW470066P1100 01 T035/329 100 100 100 100
PLAIN WASHER M3( 3.2/7) SST NB335050P0604 01 T035/361 150 150 150 150
New Category seperated from L/9/0021 as per
WASHER A 4.3 /9 SST NB335050P0605 01 T035/362 594 594 594 594 modification advice letter no. ELDD/3645 dated
WASHER A 5.3 /10 SST NB335050P0606 01 | T035/363 202 202 202 202 18.07.24 issued by Dy.CEE/D-ll with immediate
effect .
WASHER A 6.4 /12.5SST NB335050P0607 01 T035/364 154 154 154 154 Note:
WASHER A 8.4 / 17 SST NB335050P0608 01 | T035/365 130 130 130 130  [1. Procurement quantity will be as per in-house
production targets of locos for panel section
WASHER A 10.5/21 SST NB335050P0609 01 T035/366 104 104 104 104 CLW/CRI only. Not for ELAAU/Dankuni.
HT SPRING WASHER 6 SST NB335805P0509 01 | T035/359 166 166 166 166  |2.For further procurement tender should be floated
by clubbing of Category No. L/9/0021A, L/9/0021B
HT SPRING WASHER M 3 SST NB335805P0505 01 T035/369 144 144 144 144 and L/9/0021.
HT SPRING WASHER 4 SST NB335805P0507 01 T035/370 498 498 498 498
HT. SPRING WASHER 5 SST NB335805P0508 01 T035/371 172 172 172 172
HT SPRING WASHER 8 SST NB335805P0511 01 T035/373 12 g2 72 72
HT SPRING WASHER 10 SST NB335805P0512 01 T035/374 94 94 94 94
L/9/0021B CLW/ES/3/0187 New Category seperated from L/9/0021 as per
4 New PLNo. | Misc. Hardware items for Alt. N 03 1 Set modification advice letter no. ELDD/3645 dated
Harness Section ' 18.07.24 issued by Dy.CEE/D-IIl with immediate
effect .
PLAIN WASHER M3( 3.2/7) SST NB335050P0604 01 T035/361 6 06 06 06 ’ Note:
1.Procurement quantity will be as per in-house
WASHER A 4.3 /9 SST NB335050P0605 01 T035/362 14 14 14 14 ; !
production targets of locos for harness section
HT SPRING WASHER M 3 SST NB335805P0505 01 | T035/369 6 06 06 on |SHW/CRlanbi Nokfor ELAAR/Dankunt,
2.For further procurement tender should be floated
by clubbing of Category No. L/9/0021A, L/9/0021B
HT SPRING WASHER 4 SST NB335805P0507 01 T035/370 14 14 14 14 and L/9/0021.

Cék/ed by

SSE/D

IV
P rv:c LS (9’&’“‘
Reviewed by
SEE/Design

3
S

A
Issued by
Dy.CEE/D-lII



DOC NO:ELDD/3646 Pt. CATEGORY AMENDMENT FOR 3 PHASE LOCO Page 3 of 8

DATE: 20.08.2024 AMENDMENT NO.: 1076
sL Qry/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO C&D NO REMARKS
WAG-9HC | WAP-7 | WAP-5
L/9/0021
Misc. Hardware items Qty. revised and Category seperated as per
e (Electl.) for Eq. Mounting, CLW/ES/3/0187 55 1 Gt modification advice letter no. ELDD/3645 dated
Roof, Cable Lying, Alt. N 18.07.24 issued by Dy.CEE/D-lI with immediate
Connection,VB,VC,Testing ;ﬁ:a )
ote:
Section. 1.Procurement quantity will be as per production
CON WASHER 10.5X23 SPR ST 3EHW470066P1100 | 01 | T035/329 | 160 160 160 160  |targets of locos for CLW/CRI only. Not for
ELAAU/Dankuni.
. PLAIN WASHER M3( 3.2/7) SST NB335050P0604 01 | T035/361 90 90 90 90  |2.For further procurement tender should be floated
by clubbing of Category No. L/9/0021A, L/9/0021B
WASHER A 4.3 /9 SST NB335050P0605 01 | T035/362 94 94 94 94  |and L/9/0021.
WASHER A 5.3 /10 SST NB335050P0606 01 | T035/363 74 74 74 74
WASHER A 6.4 / 12.5 SST NB335050P0607 01 | T035/364 443 443 443 425
WASHER A 8.4 / 17 SST NB335050P0608 01 | T035/365 354 354 354 334 @
w
WASHER A 10.5/21 SST NB335050P0609 01 | T035/366 742 742 742 742 <
WASHER A 13/24 SST NB335050P0610 01 | T035/367 472 472 472 472 ’
WASHER M16 (17/30) SST NB335050P0611 01 | T035/368 90 90 90 90
HT SPRING WASHER 6 SST NB335805P0509 01 | T035/359 404 404 404 404
HT SPRING WASHER 16 SST NB335805P0515 01 | T035/360 84 84 84 84
HT SPRING WASHER M 3 SST NB335805P0505 01 | T035/369 10 10 10 10
HT SPRING WASHER 4 SST NB335805P0507 01 | T035/370 47 47 47 47
HT. SPRING WASHER 5 SST NB335805P0508 01 | T035/371 54 54 54 54
HT SPRING WASHER 8 SST NB335805P0511 01 | T035/373 348 348 348 348
HT SPRING WASHER 10 SST NB335805P0512 01 | T035/374 423 423 423 423
< Mowdod I e X
20,0862y }"‘ e(osp? _ A
Prepared by Checked by Reviewed by Issued by

JE/D SSE/D SEE/Design Dy.CEE/D-II



DOC NO:ELDD/3646 Pt.
DATE: 20.08.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 4 of 8
AMENDMENT NO.: 1076

sL ary/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO 285 ND REMARKS
WAG-9HC | WAP-7 | WAP-5
HIGH TENS. SP. WASHER 12 SST NB335805P0513 01 T035/375 514 514 514 514
PLAIN WASHER M12X40 SST 01 T035/507 90 90 90 90
PLAIN WASHER M18 SST 01 T035/498 9 9 9 9
HT SPRING WASHER M18 01 T035/500 9 9 9 9
HT SPRING WASHER M20 01 T035/501 1 1 1 1
PLAIN WASHER M6X34 SST 01 | T035/496 48 48 48 48
PLAIN WASHER M6X40 SST 01 | T035/504 26 26 26 26
® PLAIN WASHER M6.5X13 SST 01 T035/506 60 60 60 60
SLIDING NUT M6 01 T035/508 21/30 21 21 30
SLIDING NUT M8 01 T035/509 22 22 22 22
Plain Washer 10x30 SST 01 | T035/521 40 40 40 40
PLAIN WASHER M5.3X15 SST 01 T035/526 30 30 _30 30
PLAIN WASHER M20 SST 01 T035/499 2 2 2 2
OBLONG WASHER 13/40 SST GMN335464P3711 01 T035/511 28 28 28 28
M/9/0002D — New Category seperated from M/9/0002B as per
6 | NewPLNo. | Stn.steel Hardware Items i ':f i 5/ ’ 03 1 Set 1 Set 1Set [modification advice letter no. ELDD/3645 dated
for Panel Section ’ 18.07.24 issued by Dy.CEE/D-Ill with immediate
effect .
HEX NUT 0.8 D M3 SST NB332600P0508 01 T035/104 38 38 38 38 Note:
HEX NUT 0.8 D M4 SST NB332600P0509 01 | T035/105 288 288 288 288 1. Procurement quantity will be as per in-house
HEX NUT 0.8 D M5 SST NB332600P0510 01 T035/106 123 123 123 123 “|production targets of locos for panel section
HEX. NUT 0.8 D M6 SST NB332600P0511 01 T035/107 92 92 92 92 CLW/CRIJ only. Not for ELAAU/Dankuni.
HEX. NUT 0.8 D M8 SST NB332600P0512 01 T035/108 76 76 76 76 2.For further procurement tender should be floated |
HEX NUT 0.8D M10 SST NB332600P0513 01 T035/109 50 50 50 50 by clubbing of Category No. M/9/0002B,M/9/0002D
HEX SCREW M5 X 12 SST 3EHP416001P0512 01 T035/130 22 22 22 22 and M/9/0002E.
HEX SCREW M5 X 16 SST 3EHP416001P0516 01 T035/131 10 10 10 10
HEX SCR. M5X25 SST 3EHP416001P0525 01 T035/954 90 90 90 90
HEX SCR. M6 X 16 SST 3EHP416001P0616 01 T035/136 20 20 20 20
S - Mendal - e
23,082y Safoz (204 A
Prepared by Checked by Reviewed by Issué&l by
JE/D SSE/D SEE/Design Dy.CEE/D-Ill



DOC NO:ELDD/3646 Pt.
DATE: 20.08.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 5 of 8

AMENDMENT NO.: 1076

sL Qry/ QTY/LOCO
PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO REMARKS
NO C&DNO | \waG-9HC | waP-7 | waP=5
HEX SCR. M6 X 20 SST 3EHP416001P0620 01 T035/137 50 50 50 50
HEX SCREW M6 x 25 SST 3EHP416001P0625 01 T035/173 28 28 28 28
HEX. SCR. M6 x 60 SST 3EHP416001P0660 01 T035/167 10 10 10 10
HEX SCREW . M8 x 16 SST 3EHP416001P0816 01 T035/141 20 20 20 20
HEX SCREW M8 X 25 SST 3EHP416001P0825 01 | T035/143 36 36 36 36
HEX SCREW M8 x 60 SST 3EHP416001P0860 01 | T035/457 16 16 16 16
HEX SCREW M8 x 90 SST 3EHP416001P0890 01 | T035/458 16 16 16 16
HEX SCREW M10 X 16 SST 3EHP416001P1016 01 | T035/146 08 08 08 8
HEX SCREW M10 X 20 SST 3EHP416001P1020 01 | T035/147 16 16 16 16
HEX SCREW M10 X 25 SST 3EHP416001P1025 01 T035/148 26 26 26 26
HEX SCREW M10 X 30 SST 3EHP416001P1030 01 T035/149 20 20 20 20
HEX SCREW M10X35 SST 3EHP416001P1035 01 T035/150 6 6 6 6
HEX SCREW M10 x 60 SST 3EHP416001P1060 01 | T035/461 6 6 6 6
HEX SCREW M10 x 80 SST 3EHP416001P1080 01 | T035/462 3 3 3 3
CR-PH SCREW M3X12 SST 3EHP416003P0312 01 T035/260 150 150 150 150
CR-PH SCREW M3X16 SST 3EHP416003P0316 01 T035/261 4 4 4 4
CR-PH SCR. M3 x 50 SST 3EHP416003P0350 01 T035/233 2 2 2 2
CR-CH SCREW M4 X 12 SST 3EHP416003P0412 01 T035/262 304 304 304 304
CR-PH SCREW M4X16 SST 3EHP416003P0416 01 T035/263 150 150 150 150
CR-PH SCREW M4 X 20 SST 3EHP416003P0420 01 T035/264 33 33 33 33
CR-PH SCREW M5 X 12 SST 3EHP416003P0512 01 T035/265 70 70 70 70 s
CR-PH SCREW M5 X 16 SST 3EHP416003P0516 01 T035/512 12 12 12 12
CR-PH SCREW M6 X 16 SST 3EHP416003P0616 01 | T035/268 30 30 30 30
CR-PH SCREW M6 X 20 SST 3EHP416003P0620 01 | T035/269 65 65 65 65
CR-CS SCR. M4 x 10 SST 3EHP416004P0410 01 | T035/237 80 80 80 80
CR-CS SCR. M4 x 12 SST 3EHP416004P0412 01 T035/238 12 12 12 12
CR-CS SCR. M5 x 12 SST 3EHP416004P0512 01 T035/239 28 28 28 28
M/9/0002E J New'C'ate'gory sePerated from M/9/00028B as per
CLW/MS/3/040 modification advice letter no. ELDD/3645 dated
7 New PLNo. | Stn.steel Hardware Items At 15 03 1 Set 1 Set 1Set 118 07.24 issued by Dy.CEE/D-IIl with immediate
for Harness Section. effect .
Note:
1. Procurement quantity will be as per in-house
CR-PH SCREW M3X12 SST 3EHP416003P0312 01 T035/260 6 6 6 6 production targets of locos for harness section
CLWY/CRJ onlv. Not for ELAAU/Dankuni.
S.™o0 WQ\.A,O_ a,L&o‘”" e
Prepared by Checked by Reviewed by Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-llI



DOC NO:ELDD/3646 Pt.
DATE: 20.08.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 6 of 8
AMENDMENT NO.: 1076

st Qry/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO CEDNO REMARKS
WAG-9HC | WAP-7 | WAP-5
2.For further procurement tender should be floated
CR-PH SCREW M4X16 SST 3EHP416003P0416 01 T035/263 14 14 14 14 by clubbing of Category No. M/9/0002B,M/9/0002D
and M/9/0002E.
M/9/0002B Qty. revised and Category seperated as per
Stn. Steel Hardware Items modification advice letter no. ELDD/3645 dated
i 18.07.24 issued by Dy.CEE/D-IIl with immediate
8 | 29400089 For Eq.Mounting, Roof, CEW BEIS1060 03 1 Set 1 Set 1Set  |effect vov e/
Cable Lying, Alt. 15 :
Note:
Connection,VB,VC, 1.Procurement quantity will be as per production
Testing Section targets of locos for CLW/CRJ only. Not for
s HEX NUT 0.8 D M3 SST NB332600P0508 01 T035/104 10 10 10 10 ELAAU/Dankuni.
HEX NUT 0.8 D M4 SST NB332600P0509 01 | T035/105 58 58 58 58 2.For further procurement tender should be floated
HEX NUT 0.8 D M5 SST NB332600P0510 01 T035/106 38 38 38 38 by clubbing of Category No. M/9/0002B,M/9/0002D
HEX. NUT 0.8 D M6 SST NB332600P0511 01 T035/107 90 90 90 90 and M/9/0002E.
HEX. NUT 0.8 D M8 SST NB332600P0512 01 T035/108 109 109 109 109
HEX NUT 0.8D M10 SST NB332600P0513 01 T035/109 315 315 315 315
HEX NUT 0.8 D, M12 SST NB332600P0514 01 T035/110 90 90 90 90
HEX SCREW M5 X 12 SST 3EHP416001P0512 01 T035/130 12 12 12 12
HEX SCREW M5 X 16 SST 3EHP416001P0516 01 T035/131 36 36 36 36
HEX SCR. M5 X 20 SST 3EHP416001P0520 01 T035/132 20 20 20 20
HEX SCREW M6X12 SST 3EHP416001P0612 01 T035/135 28 28 28 28
HEX SCR. M6 X 16 SST 3EHP416001P0616 01 T035/136 118 118 118 118
HEX SCR. M6 X 20 SST 3EHP416001P0620 01 T035/137 142 142 142 142
HEX SCREW M6 x 25 SST 3EHP416001P0625 01 T035/173 44 44 44 44
HEX. SCR. M6 x 60 SST 3EHP416001P0660 01 T035/167 12 12 12 12
HEX SCREW . M8 x 16 SST 3EHP416001P0816 01 T035/141 80 80 80 80
HEX. SCR. M8 X 20 SST 3EHP416001P0820 01 T035/142 98 98 98 98
HEX SCREW M8 X 25 SST 3EHP416001P0825 01 T035/143 132 132 132 132
HEX SCREW M8 X 35 SST 3EHP416001P0835 01 T035/516 27 27 27 27
HEX SCREW M10 X 16 SST 3EHP416001P1016 01 T035/146 62 62 62 62
HEX SCREW M10 X 20 SST 3EHP416001P1020 01 T035/147 50 50 50 50
HEX SCREW M10 X 25 SST 3EHP416001P1025 01 T035/148 48 48 48 48
HEX SCREW M10 X 30 SST 3EHP416001P1030 01 T035/149 38 38 38 38
HEX SCREW M10X35 SST 3EHP416001P1035 01 T035/150 44 44 44 44
S Mo wel_n,Q. WWM ; .\\\1’
28:0%. 2y ﬁ ‘ s 8 [>OM 2R
Prepared by Checked by Reviewed by T Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-llI

gh%



DOC NO:ELDD/3646 Pt.
DATE: 20.08.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 7 of 8
AMENDMENT NO.: 1076

st Qry/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO C&D NO REMARKS
WAG-9HC | WAP-7 | WAP-5
HEX SCREW M10 X 40 SST 3EHP416001P1040 01 T035/151 72 22 72 72
HEX SCREW M10 x 45 SST 3EHP416001P1045 01 T035/460 10 10 10 10
HEX SCREW M10 x 50 SST 3EHP130170P0001 01 T035/127 30 30 30 30
HEX SCREW M10 x 60 SST 3EHP416001P1060 01 T035/461 20 20 20 20
HEX SCREW . M12 x 20 SST 3EHP416001P1220 01 T035/152 44 44 44 44
HEX SCREW M12X25 SST 3EHP416001P1225 01 | T035/153 102 102 102 102
HEX SCREW M12X30 SST 3EHP416001P1230 01 T035/154 82 82 82 82
HEX SCREW M12X35 SST 3EHP416001P1235 01 | T035/155 97 97 97 97
HEX SCREW M12X40 SST 3EHP416001P1240 01 | T035/156 68 68 68 68
HEX SCREW M12X45 SST 3EHP416001P1245 01 T035/157 56 56 56 56
. New C&D generated as per modification advice
HEX SCREW M12X55 SST 01 | T035/540 6 06 06 06 letter no. ELDD/3645 dated 18.07.24 issued by
Dy.CEE/D-Ill with immediate effect .
HEX SCREW M16X40 SST 3EHP416001P1640 01 T035/160 29 29 29 29
CR-PH SCREW M3X12 SST 3EHP416003P0312 01 T035/260 10 10 10 10
CR-PH SCREW M4X50 3EHP416003P0450 01 T035/472 10 10 10 10
CR-PH SCREW M6 X 20 SST 3EHP416003P0620 01 T035/269 94 94 94 94
CR-CS SCR. M4 x 12 SST 3EHP416004P0412 01 T035/238 05 05 05 05
HEX BOLT M10X50/26 SST 3EHP416001P1050 01 T035/417 30 30 30 30
HEX SCREW M8 x 30 SST 3EHP416001P0830 01 T035/456 52 52 52 52
HEX SCREW M10 x 45 SST 3EHP416001P1045 01 T035/460 10 10 10 10
HEX SCREW M10 x 60 SST 3EHP416001P1060 01 | T035/461 20 20 20 20
HEX SCREW M18 x 40 SST 3EHP416001P1840 01 | T035/465 9 09 09 09
SPH SCREW M6x20 HBTB416288P0620 01 | T035/468 10 10 10 10
HEX NUT 0.8 D, M16 SST NB332600P0515 01 | T035/111 8 08 08 08
HEX SCREW M16X30 SST 3EHP416001P1630 01 | T035/159 16 16 16 16
HEX SCREW M16X70 SST 3EHP416001P1670 01 T035/957 12 12 12 12
HEX. SCR. M12 x 60 SST 3EHP416001P1260 01 T035/169 4 4 4 4
HEX. SCREW M4x20 SST 3EHP416003P0406 01 T035/480 8 8 8 8
New C&D generated as per modification advice
HEX. SCREW M4x25 SST 01 T035/541 24 24 24 24 letter no. ELDD/3645 dated 18.07.24 issued by
Dy.CEE/D-IIl with immediate effect .
CR-PH SCR. M4 x10 SST 3EHP416003P0410 01 T035/235 6 06 06 06

S Moondal

2-9 s U &v
Prepared by
JE/D

C@d by

SSE/D

Sbolg

Reviewed by
SEE/Design

A

%o
Issued by
Dy.CEE/D-III




DOC NO:ELDD/3646 Pt. CATEGORY AMENDMENT FOR 3 PHASE LOCO Page 8 of 8
DATE: 20.08.2024 AMENDMENT NO.: 1076
- i QrY/LOCO
PL. NO CAT. NO. & DESCRIPTION DRG/SPECNO  |uNiT| c&pNO L REMARKS
NO C&DNO | \yaG.gHe | wapr-7 | wap-s
CR-CS SCREW M6X20 SST 3EHP416004P0620 01 T035/242 12 12 12 12
HEX SCREW M6 x 25 SST 3EHP416001P0625 01 T035/173 70 70 70 70
Hex Head Screw M8x35 SST 3EHP 416001P0835 01 T035/516 27 27 27 27
CR-CS Screw M4x20 SST St.Steel Gr AISI-304 01 T035/513 10 10 10 10
Hex Head Screw M4x25 SST 1S:1367 PT-14, A2-70 01 T035/527 24 24 24 24
HEX SCREW M8X120 SST NB312450P0327 01 T035/164 3 03 03 03
HEX SCREW M8X130 SST NB312450P0328 01 T035/165 3 03 03 03
HEX SCREW M10X80 SST 3EHP416001P1080 01 T035/462 4 04 04 04
HEX SCR. M5X25 SST 3EHP416001P0525 01 T035/954 22 22 22 22
CR-PH SCR.M4X8 SST 3EHP416003P0408 01 T035/234 10 10 10 10
v SCREW PHILFSESE 182-00232-008 01 T035/956 10 10 10 10
HD.M5X30X0.8P

HEX SCREW M 16X70 SST 3EHP416001P1670 01 T035/957 12 12 12 12
HEX SCREW M 16X25 SST 3EHP416001P1625 01 T035/958 6 06 06 06

New C&D generated as per modification advice

HEX SCREW M 16X35 SST 01 T035/542 2 02 02 02 letter no. ELDD/3645 dated 18.07.24 issued by

Dy.CEE/D-IIl with immediate effect .

Copy to:
1. CEE/LOCC 2.Dy.CEE/EL 3.Dy.CME/ELA 4.Dy.CMM/M-Il 5. Dy.CMM/Depot 6. Dy.CEE/I&D/HWH 7. Dy.CEE/I&D/DLI 8.CQAM 9. SSE/Doc (Mech)

S. ,
A a 4 P % o
Checked by

Prepared by Reviewed by Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-lil

94 G



DOC NO:ELDD/3646 Pt.
DATE: 16.08.2024

AMM/3PL
CLW/CRJ

Sub: Category Amendment for 3 phase Loco.

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 1 of 1
AMENDMENT NO.: 1077

Please incorporate the following amendment sheet for the said loco. This is for your kind information and necessary action may please be taken from your end.

SL Qry/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO C&D NO REMARKS
WAG-9HC | WAP-7 | WAP-5
L/9/0009
1 29350141 WASHER 03 Nil 1 Set Nil
i (NON METALLIC)
WASHER (NON METALLIC) FIBRE
INSULATION 12(;9': 21;.::16-1131 01 | T308/047 32 Nil 32 Nil
ID18.2x0D39.7x2.5 Thk ent Al
WASHER (NON METALLIC) FIBRE 1209-18.406.131
INSLILATION Ref.Z.AM__l 01 | T315/207 4 il 4 il Quantity for WAG-9HC have been deleted as
ID6.250D14.5%0.75 Thk per modification advice no. ELDD/3610/Pt./
WASHER (NON METALLIC) FIBRE Category Amendment dated 12.08.24 with
INSULATION 12:9;1:'4;?1131 01 | T315/206 12 Nil 12 Nil gory irredinte affect ’
ID12x0D30x1.5 Thk - - :
WASHER NYLON ID9x0D22x3 Thk 120918406128 01 | T310/098 4 Nil 4 Nil
Ref.5 Alt. 1
WASHER BLACK NEOPRENE
- - T309/24 Nil ;
0/D14x1/D6 x3 thi. 182-01085-001 01 9/245 2 i 2 Nil

All other details will remain same.

Copy to:
1. CEE/LOCO 2.Dy.CME/ELA

Pregared by

SSE/D

3.Dy.CEE/EL

4.Dy.CMM/M-II

5. Dy.CMM/Depot 6. Dy.CEE/I&D/HWH

Ohogso—

) P

Chécked hy
SSE/D

Reviewed by
SEE/Design

7. Dy.CEE/I&D/DLI

8.CQAM 9. SSE/Doc (Mech)

\

; /’

8
Issued by

Dy.CEE/D-llI



DOC NO:ELDD/3646 Pt.
DATE: 23.08.2024

AMM/3PL
CLW/CRJ

Sub: Category Amendment for 3 phase Loco.

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 1 of 12
AMENDMENT NO.: 1078

Please incorporate the following amendment sheet for the said loco. This is for your kind information and necessary action may please be taken from your end.

sL ary/ QTY/LOCO
PL.NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO REMARKS
nNg | C&DNO | \wag-gHC | wap-7 | waps
S/9/0025
1 29230147 Brass pipe fittings for E-70 CLWI'LS;:S;SICFI5 03 1 Set Nil Nil
brake system for WAG-9HC ’
* Qty. against C&D No.T309/005 have been
" N " 1209-18.406-103 T309/005 7 . . increased from '5' to '7' as per modification
LR TES Sl s Ref.2 Alt.7 01 | 3001364 | 4 T Nil NIl | vice letter no. ELDD/3610/Part.v dated
09.08.24 with immediate effect .
T327/137 2 Qty. against C&D No.T309/033 have been
3/8"TUBEXx 3/8" BSPT MALE 1209-18.406-100 01 T309/033 16 26 Nil Nil increased from '7' to '16' as per modification
CONNC. Ref. 3 Alt. 7 T309/093 4 advice letter no. ELDD/3610/Part-V dated
T309/297 4 09.08.24 with immediate effect .
T309/034 9 Qty. against C&D No.T309/034 have been
MALE CONNEC. 1/2" BSPTx1/2"| 1209-18.406-100 01 T309/098 3 19 Nil Nil increased from '3' to '9' as per modification
TUBE Ref. 6 Alt. 7 T309/119 3 advice letter no. ELDD/3610/Part-V dated
T309/381 4 ' 09.08.24 with immediate effect .
Qty. against C&D No.T309/124 have been
(NY’T_%%A“II'_EBCE())BEE;ITS;E . 1209-18.406-107 01 T309/124 9 1 Nil Nil incrgased from '8'to '9' as per modification
3/8" BSPP Ref. 2 Alt. 6 T309/295 2 advice lette[' ng. ELDD/3610/Part—V dated
09.08.24 with immediate effect .
. |Qty. against C&D No0.T309/123 have been
Male Connector (Nylon Tube) 1209-18.406-108 01 T309/123 13 15 Nil Nil increased from '10' to '13' as per modification
Dia 6 Tube x 3/8" BSPT Ref.2 Alt. 6 T309/291 2 advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
<. M owx_A_G/Q. o
29%:08 Y 4 08 27 / ,2'6/1, 2 'VQM q‘J‘\
Prepared by Che d by Reviewed by Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-III



DOC NO:ELDD/3646 Pt.
DATE: 23.08.2024

/

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 2 of 12
AMENDMENT NO.: 1078

st ary/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO C&D NO REMARKS
WAG-9HC | WAP-7 | WAP-5
Qty. against C&D No.T309/018 have been
3/8" Tube to 3/8" BSPT Male 1209-18.406-101 01 T309/018 6 8 Nil Nil increased from '4' to '6' as per modification
Elbow Ref. 2 Alt. 6 T309/089 2 advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
Female Tee 3/8" BSPP 3/PLW/EL/SK-038 01 | T309/537 6 6 Nil Nil
Female Tee 1/2" BSPP 3/PLW/EL/SK-039 01 | T309/538 4 4 Nil Nil
Hex. Plug 3/8" BSPT 3/PLW/EL/SK-040 | 01 | T309/539 | 2 2 Nil Nil ~ [New C&D No. generated as per modification
advice letter no. ELDD/3610/Part-V dated
. Hex. Plug 1/2" BSPT 3/PLW/EL/SK-041 01 | T309/540 4 4 Nil Nil  [09.08.24 with immediate effect .
S N'pp'e;éiTBSPT X381 apLwEUsko042 | 01 | Ta0osa1| a4 4 Nil Nil
Red Hex. Nipple 1/2" BSPT x . :
3/8" BSPT 3/PLW/EL/SK-043 01 | T309/542 2 2 Nil Nil
All others remain same.
S/9/0049
2 29230354 Brass Pipe fittings for CCB CLWI;SI:QBWCFIS 03 1 Set Nil Nil
System OF WAG-9HC )
Qty. against C&D No.T309/439 have been
R " u 1209-18.406-103 T309/439 8 . ' increased from '6' to '8' as per modification
SHIRIN TSR S e Ref.2 Alt.7 01 | t300440| 5 13 Nil Nl advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
T327/210 2 Qty. against C&D No.T309/431 have been
3/8"TUBEXx 3/8" BSPT MALE 1209-18.406-100 01 T309/431 17 28 Nil Nil increased from '8'to '"17' as per modification
CONNC. Ref. 3 Alt. 7 T309/432 4 advice letter no. ELDD/3610/Part-V dated
T309/433 5 +]09.08.24 with immediate effect .
T309/457 8 Qty. against C&D No.T309/457 have been
MALE CONNEC. 1/2" BSPT 1209-18.406-100 01 T309/458 2 17 Nil Nil increased from '2' to '8' as per modification
x 1/2" TUBE Ref. 6 Alt. 7 T309/459 3 advice letter no. ELDD/3610/Part-V dated
T309/460 4 09.08.24 with immediate effect .

é MOV\JJ—R’L

249.08 2y
Prepared by

JE/D

(@/1103*2‘/

Checked by
SSE/D

Sl

Reviewed by
SEE/Design

B

Issued by
Dy.CEE/D-lI



DOC NO:ELDD/3646 Pt.
DATE: 23.08.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 3 of 12
AMENDMENT NO.: 1078

sL Qry/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO c2DNO REMARKS
WAG-9HC | WAP-7 | WAP-5
Description have been changed and Qty.
FEMALE CONNECTOR against C&D No.T309/482 have been increased
(NYLON TUBE) Dia 6 TUBE x 1222}12'4;\)'?2507 01 gggﬁgg g 11 Nil Nil  |from'8'to'9' as per modification advice letter
3/8" BSPP ’ ’ no. ELDD/3610/Part-V dated 09.08.24 with
immediate effect .
Qty. against C&D No.T309/480 have been
Male Connector (Nylon Tube) dia| 1209-18.406-108 01 T309/480 13 15 Nil Nil increased from '10' to '13' as per modification
6 TUBE x 3/8" BSPT Ref.2 Alt. 6 T309/481 2 advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
3 Qty. against C&D No.T309/447 have been
3/8" Tube to 3/8" BSPT Male 1209-18.406-101 01 T309/447 5 7 Nil Nil increased from '3' to '5' as per as per
Elbow Ref. 2 Alt. 6 T309/448 2 modification advice letter no. ELDD/3610/Part-V
dated 09.08.24 with immediate effect .
Female Tee 3/8" BSPP 3/PLW/EL/SK-038 01 | T309/543 6 6 Nil Nil
Female Tee 1/2" BSPP 3/PLW/EL/SK-039 01 | T309/544 4 4 Nil Nil
Hex. Plug 3/8" BSPT 3/PLW/EL/SK-040 01 | T309/545 2 2 Nil Nil New C&D No. generated as per modification
. . : advice letter no. ELDD/3610/Part-V dated
. Hrix. FIDIu?g’;/;{ZBSBPSTPTBIBH 3/PLW/EL/SK-041 01 | T309/546 4 4 Nil Nil 09.08.24 with immediate effect .
ks 3/PLW/EL/SK-042 | 01 | T309/547 | 4 4 Nil Nil
Red Hex. Nipple 1/2" BSPT x . .
3/8" BSPT 3/PLW/EL/SK-043 01 | T309/548 2 2 Nil Nil
All others remain same.
S$/11/0025
3 29234967 Brass pipe fittings for CLWIE:?ICFIS 03 Nil 1 Set Nil
E-70 brake system for WAP-7 ’
Qty. against C&D No.T309/005 have been
N " " 1209-18.406-103 T309/005 7 . : increased from '5' to '7' as per modification
LRI TEE Sl Ref.2 Alt7 O 1300364 | 4 i 1 NIl advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
<S.Me 'v\.cta,/e ;
n9% .08 24y @Qyos-za{ ;_,écs[)ﬂﬁ*ﬂ ZHan
Prepared by Chetked by Reviewed by Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-lII



DOC NO:ELDD/3646 Pt.
DATE: 23.08.2024

(

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 4 of 12
AMENDMENT NO.: 1078

sL ary/ QTY/LOCO
N6 PL.NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO C&D NO REMARKS
WAG-9HC | WAP-7 | WAP-5
T327/137 2 Qty. against C&D No.T309/033 have been
3/8"TUBEXx 3/8" BSPT MALE 1209-18.406-100 01 T309/033 17 Nil 27 Nil increased from '8'to '17' as per modification
CONNC. Ref. 3 Alt. 7 T309/093 4 advice letter no. ELDD/3610/Part-V dated
T309/297 4 09.08.24 with immediate effect .
T309/034 10 Qty. against C&D No.T309/034 have been
MALE CONNEC. 1/2" BSPTx1/2"| 1209-18.406-100 01 T309/098 2 Nil 19 Nil increased from '4' to '10' as per modification
TUBE Ref. 6 Alt. 7 T309/119 3 advice letter no. ELDD/3610/Part-V dated
T309/381 4 09.08.24 with immediate effect .
Qty. against C&D No0.T309/124 have been
. (NYT_%“:IA#EBCE?’;!\;EE? 'IT'L(J)gE % 1209-18.406-107 01 T309/124 9 Nil 11 Nil increased from '8' to '9" as per modification
3/8" BSF;P Ref. 2 Alt. 6 T309/295 2 advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
Qty. against C&D No0.T309/123 have been
Male Connector (Nylon Tube) dia|] 1209-18.406-108 01 T309/123 13 Nil 15 Nil increased from '10' to '13' as per modification
6 TUBE x 3/8" BSPT Ref.2 Alt. 6 T309/291 2 advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
Qty. against C&D No.T309/018 have been
3/8" TUBE X 3/8" BSPT MALE 1209-18.406-101 : ; increased from '6' to '8' as per modification
ELBOW Ref-2 Alt.6 o1 | TSeeaa . AL . i advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
Female Tee 3/8" BSPP 3/PLW/EL/SK-038 01 | T309/537 6 Nil 6 Nil
Female Tee 1/2" BSPP 3/PLW/EL/SK-039 01 | T309/538 4 Nil 4 Nil
Hex. PIUg 3/8" BSPT 3/PLW/EL/SK-040 01 T309/539 2 Nil 2 Nil New C&D No. generated as per modification
. : dvice letter no. ELDD/3610/Part-V dated
: p -04 T309/54 NI |2
. H'j.x I|9|u§/ ;-{ZBSBPSTPT3/8" 3/PLW/EL/SK-041 01 309/540 4 Nil 4 i 08.08.04 wihimmetiate sfiad
ex. Nipp eBSPT X 3/PLW/EL/SK-042 | 01 | T309/541 4 Nil 4 Nil
Red Hex. Nipple 1/2" BSPT x . ]
3/8" BSPT 3/PLW/EL/SK-043 01 | T309/542 2 Nil 2 Nil

All others remain same.

S. MO«Y\AJLL

1208 ’)/b,
Prepared by

JE/D

a
Chec

ked by

_¢.3-2</

SSE/D

v Inszoe—
ped il

Reviewed by
SEE/Design

¥
lssﬁgﬂ\ by
Dy.CEE/D-II

)



DOC NO:ELDD/3646 Pt.
DATE: 23.08.2024

(

f
x

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 5 of 12
AMENDMENT NO.: 1078

st Qry/ QTY/LOCO
PL.NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO REMARKS
- C&DNO | \waG-oHC | wAP-7 | waP-5
S/11/0049
4 29234979 Brass Pipe fittings for CCB [CLW/TS/99/CF/5 alt.8 03 Nil Nil
System of WAP-7 Loco
Qty. against C&D No.T309/439 have been
" 5 . 1209-18.406-103 T309/439 8 . . increased from '6' to '8' as per modification
e Ref.2 Alt7 01 | 1300440 5 Nil 13 NIl advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
T327/210 2 Qty. against C&D No.T309/431 have been
3/8"TUBEXx 3/8" BSPT MALE 1209-18.406-100 01 T309/431 17 Nil 08 Nil increased from '8' to '17' as per modification
CONNC. Ref. 3 Alt. 7 T309/432 4 advice letter no. ELDD/3610/Part-V dated
T309/433 5 09.08.24 with immediate effect .
T309/457 8 Qty. against C&D No.T309/457 have been
MALE CONNEC. 1/2" BSPTx1/2"| 1209-18.406-100 01 T309/458 2 Nil 17 Nil increased from '2' to '8' as per modification
TUBE Ref. 6 Alt. 7 T309/459 3 advice letter no. ELDD/3610/Part-V dated
T309/460 4 09.08.24 with immediate effect .
Description have been changed and Qty.
FEMALE CONNECTOR against C&D No.T309/482 have been increased
(NYLON TUBE) Dia 6 TUBE x 1222}1 3'4;3'?'2307 01 I.ggg;:gg g Nil 11 Nil from '8' to '9' as per modification advice letter
3/8" BSPP d ; no. ELDD/3610/Part-V dated 09.08.24 with
immediate effect .
Qty. against C&D No.T309/480 have been
Male Connector (Nylon Tube) diaj 1209-18.406-108 01 T309/480 13 Nil 15 Nil increased from '10' to '13' as per modification
6 TUBE x 3/8" BSPT Ref.2 Alt. 6 T309/481 2 advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
Qty. against C&D No0.T309/447 have been
3/8" Tube x 3/8" BSPT Male 1209-18.406-101 01 T309/447 6 Nil 8 Nil increased from '4' to '6' as per modification
Elbow Ref. 2 Alt. 6 T309/448 2 J|advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
Female Tee 3/8" BSPP 3/PLW/EL/SK-038 01 | T309/543 6 Nil 6 Nil New C&D No. generated as per modification
Female Tee 1/2" BSPP 3/PLW/EL/SK-039 01 | T309/544 4 Nil 4 Nil  |advice letter no. ELDD/3610/Part-V dated
Hex. Plug 3/8" BSPT 3/PLW/EL/SK-040 01 | T309/545 2 Nil 2 Nil  ]09.08.24 with immediate effect .
Hex. Plug 1/2" BSPT 3/PLW/EL/SK-041 01 | T309/546 4 Nil 4 Nil
S i M oNl,&/Q WA e 'x
2% .08 1Y 93.08: 24 24 [P P
Prepared by Chetked by Reviewed by Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-lII




DOC NO:ELDD/3646 Pt.
DATE: 23.08.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

q
\

Page 6 of 12
AMENDMENT NO.: 1078

st Qry/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO t B o REMARKS
WAG-9HC | WAP-7 | WAP-5
Fex, Nipp'e;gTBSPT X38" | pLwiELsK-042 | 01 | Ta0ei547 4 Nil 4 Nil
Red Hex. Nipple 1/2" BSPT x : .
3/8" BSPT 3/PLW/EL/SK-043 01 | T309/548 2 Nil 2 Nil
All others remain same.
V/9/0015 Description have been changed as per
5 29180089 Set of Isolati K 03 1 Set 1 Set 1 Set |modification advice letter no. ELDD/3610/Part-V
el dated 09.08.24 with immediate effect .
. " T309/549 4 i
Isolating Cock 3/8" (Vented) |1209-18.306-195 Alt.2| 01 4 4 4 New C&D No. generated as per modification
B309/361 4 5
- T309/550 > advice letter no. ELDD/3610/Part-V dated
Isolating Cock 3/8" (without vent)|1209-18.306-195 Alt.2| 01 B309/362 2 2 2 2 09.08.24 with immediate effect .
All others remain same.
T331/011 1 Qty. against C&D No.T309/087 have been
T/9/0003C T309/087 23.2 increased from '22' to '23.2' for WAG-9HC &
6 29170114 Tube Cu. 9.52 (3/8") O/Dx1.245{ CLW/MS/3/030 Alt.- 22 T327/146 | 144.9/16 205.1 64.2 12 WAP-7 and New C&D No. B309/363 generated
mm WT x 6 Mtr. Lg. 12 T309/166 24 /12 ' ’ ’ for WAP-5 as per modification advice letter no.
(Weight/Mtr = 0.288 Kg.) T309/317 12 ELDD/3610/Part-V dated 09.08.24 with
B309/363 1.2 immediate effect .
All others remain same.
T/9/0003N Qty. against C&D No0.T327/233 have been
~ W increased from '232.53' to '233.73' for WAG-
7 |New PL No, | Tube Cu. 3{32 (3é8M)t?’|'_3"1'245 et Msgoao Alt- | oo | 1307233 | 23373 | 233.73 Nil Nil  |9HC as per modification advice letter no.
W’"_mh UMX ek E' ELDD/3610/Part-V dated 09.08.24 with
(Weig ik g) immediate effect .
All others remain same.
S/9/0013
8 29210010 |[Clamps for WAG-9HC & WAP-7| CLW/MS/3/059 Alt.-6 | 03 1 Set Nil
for E-70 Brake System
<. Moondol , e % e
29 08 1Yy 93.03- 2% 24 [o3 [>Y N
Prepared by Checked by Reviewed by Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-lII



DOC NO:ELDD/3646 Pt.
DATE: 23.08.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 7 of 12
AMENDMENT NO.: 1078

sL Qry/ QTY/LOCO
NG PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO CRDND REMARKS
WAG-9HC | WAP-7 | WAP-5
Description have been changed and Qty.
N T309/102 47 against C&D No.T309/102 have been increased
TUBE C"A“apls’s BT 2 12(?‘;3'4'3?2357 01 | T309/076 | 180 237 237 Nil  |from '45'to ‘47" for WAG-9HC & WAP-7 as per
alves) eta Al T304/054 | 10 modification advice letter no. ELDD/3610/Part-V
dated 09.08.24 with immediate effect .
All others remain same.
S$/9/0086
9 29210185 |Clamps for WAG-9HC & WAP-7| CLW/MS/3/059 Alt.-6 | 03 1 set 1 set NIL
for CCB System
' Description have been changed and Qty.
- T309/535 47 against C&D No.T309/535 have been increased
TaE CLA“::PISQ DiRTin2 12??9'; 3'4'21?'5?57 01 | T309/536 180 237 237 Nil  [from '45'to '47" for WAG-9HC & WAP-7 as per
i et Al T304/290 | 10 modification advice letter no. ELDD/3610/Part-V
dated 09.08.24 with immediate effect .
All others remain same.
S/9/0024
10 | 29170771 P.P.Comp. for WAG-9HC & CLWGNSI3I069 03 1 Set Nil
Alt.10
WAP-7.
2
T304/094
T304/105 23.38;/33.3
T309/016 16 Qty. against C&D No.T309/016 have been
T309/100 1 increased from '1.5' to '1.6' for WAG-9HC &
CUSHION - UNISTRUT 22 | T327/151 1 30.1 40.1 Nil WAP-7 as per modification advice letter no.
. T309/168 046 ELDD/3610/Part-V dated 09.08.24 with
1209-18.406-117 T304/142 0.16 limmediate effect .
Alt. 4 T304/152 O 4
T304/160 O. 1

All others remain same.

g.Mcm\oQ,a,e

292,068 Yy

Prepared by

JE/D

&1}08‘2}
Chetked by

SSE/D

g
Ay
Reviewed by
SEE/Design

Issued by
Dy.CEE/D-II



DOC NO:ELDD/3646 Pt.
DATE: 23.08.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 8 of 12
AMENDMENT NO.: 1078

sL ary/ QTY/LOCO
NG PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO Ca.DNO REMARKS
WAG-9HC | WAP-7 | WAP-5
M/9/0003 i
11 29332011 SCREW HEX.HEAD. 03 1 Set Nil
Qty. against C&D No.T309/178 have been
1303029 | 4 SRR g5 paT mradieion advis ey 1
HEX. SCREW M 6x16x1P 1S:1364-S-8.8 Gr. A to 01 T303/053 8 (72+94) (72+94) NIL  |ELDD/361 07Pa H-V dated 09.08.24 with '
Zn. Plated (Passivated) 1S:1367 T309/178 56 =166 =166 ) ; T
T304/140 4 immediate effect .
Note for User Shop Column : 152 nos. for Shop
No. 16 and 14 nos. for Shop No. 15 & 26
All others remain same.
M/9/0013 CLW/MS/3/090 ]
1 Set
ol e Nyloc Nuts Hex. Alt.8 - © N
182-00047-003 T304/081 142
o T309/084 407
— gg%gg ':l'i'l Qty. against C&D No.T309/084 have been
= T327/185 Nil increased from '405' to '407' for WAG-9HC &
NYLOC NUTS HEX. M6 x 1 P 182 0@.{,_003 01 T309/227 Nil 549 549 Nil WAP-7 as per modification advice letter no.
: ; ELDD/3610/Part-V dated 09.08.24 with
o ToGsleon ool immediate effect
DO T304/141 Nil :
DO T304/151 Nil
DO T304/159 Nil
All others remain same.
S/10/0005
13 | 29235029 | Brass Pipe Fittings for WAP-5 CLWI.I::QBQICF/S 03 Nil Nil 1 Set
for E-70 Brake System )
'|aty. against C&D No.B309/015 have been
" " " 1209-18.406-103 B309/015 11 . z increased from '9' to '11' as per modification
RN TR Rar s Ref-2 Alt -7 O | B3oor23| 4 i Wi 15 |advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .

- Moo\cl-ﬁza/'
2%.06 2y

Prepared by

JE/D

%23&8-27

Checked by
SSE/D

Iy

Reviewed by
SEE/Design

Ry

Issued by
Dy.CEE/D-III



DOC NO:ELDD/3646 Pt.
DATE: 23.08.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 9 of 12
AMENDMENT NO.: 1078

st . ary/ QTY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO C&D NO REMARKS
WAG-9HC | WAP-7 | WAP-5
B309/027 15 Qty. against C&D No0.B309/027 have been
3/8"TUBEXx 3/8" BSPT MALE 1209-18.406-100 01 B309/125 4 Nil Nil 27 increased from '6' to '15' as per modification
CONNC. Ref.-3 Alt.-7 B309/038 2 advice letter no. ELDD/3610/Part-V dated
B309/217 6 09.08.24 with immediate effect .
B309/063 10 Qty. against C&D No0.B309/063 have been
MALE CONNEC. 1/2" BSPTx1/2" 1209-18.406-100 01 | B309/164 2 Nil Nil 14 increased from '4' to '10' as per modification
TUBE Ref.-6 Alt.-7 B309/105 2 advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
Description have been changed and Qty.
. FEMALE CONNECTOR against C&D No.B309/169 have been increased
(NYLON TUBE) Dia 6 TUBE x 12396;1 2‘2\%6_'; 07 | o1 ggggg?? g Nil Nil 11 |from'8'to'9' as per modification advice letter
3/8" BSPP . ’ no. ELDD/3610/Part-V dated 09.08.24 with
immediate effect .
Qty. against C&D No.B309/168 have been
Male Connector (Nylon Tube) dia|] 1209-18.406-108 01 B309/168 15 Nil Nil 17 increased from '12' to '15' as per modification
6 TUBE x 3/8" BSPT Ref.-2 Alt.-6 B309/210 2 advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
Qty. against C&D No0.B309/096 have been
3/8" Tube x 3/8" BSPT Male 1209-18.406-101 : : increased from '6' to '8' as per modification
Elbow Ref.-2 Alt.-6 01 | BIoaoR B Nl N 6 advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
" : ; New C&D No. generated as per modification
Female Tee 3/8" BSPP 3/PLW/EL/SK-038 01 | B309/364 6 Nil Nil 6 advice letter no. ELDD/3610/Part-V dated
09.08.24 with i diate effect .
Female Tee 1/2" BSPP 3/PLW/EL/SK-039 | 01 |B309/3es| 4 Nil Nil 5 with immedate efiec
Hex. Plug 3/8" BSPT 3/PLW/EL/SK-040 01 | B309/366 2 Nil Nil 2
Hex. Plug 1/2" BSPT 3/PLW/EL/SK-041 01 | B309/367 4 Nil Nil 4
2. pla matadl vdoss— }B
25 .08 24 23 o824 se(o8(2 o™
Prepared by Checked by Reviewed by Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-lI



DOC NO:ELDD/3646 Pt.
DATE: 23.08.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 10 of 12
AMENDMENT NO.: 1078

st Qry/ QTY/LOCO
O PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO C&D NO REMARKS
WAG-9HC | WAP-7 | WAP-5
Hek. Nipp'eg’gTBSPT Xx3/8" | 3pLwWEL/SK-042 | 01 | B309/368 4 Nil Nil 4
Red Hex. Nipple 1/2" BSPT x : s
3/8" BSPT 3/PLWI/EL/SK-043 01 | B309/369 2 Nil Nil 2
All others remain same.
$/10/0054 Description have been changed as per
14 | 29234955 Brass pipe fittings for CCB CLW,-LSI:QBQICFIS 03 Nil Nil 1 Set {modification advice letter no. ELDD/3610/Part-V
System for WAP-5 loco ) dated 09.08.24 with immediate effect .
B309/271 11 Qty. against C&D No.B309/271 have been
: . " " 1209-18.406-103 . . increased from '9' to '11' as per modification
el Ref.-2 Alt.-7 “ ggggg;é ‘2‘ A . 7 ladvice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
B309/263 15 Qty. against C&D No.B309/263 have been
3/8"TUBEXx 3/8" BSPT MALE 1209-18.406-100 01 B309/264 4 Nil Nil 27 increased from '6' to '15' as per modification
CONNC. Ref.-3 Alt.-7 B309/265 2 advice letter no. ELDD/3610/Part-V dated
B309/266 6 09.08.24 with immediate effect .
B309/313 10 Qty. against C&D No.B309/313 have been
MALE CONNEC. 1/2" BSPTx1/2"| 1209-18.406-100 01 B309/314 2 Nil Nil 16 increased from '4' to '10' as per modification
TUBE Ref.-6 Alt.-7 B309/315 2 advice letter no. ELDD/3610/Part-V dated
B309/ 316 2 09.08.24 with immediate effect .
Description have been changed and Qty.
FEMALE CONNECTOR against C&D No0.B309/281 have been increased
(NYLON TUBE) Dia 6 TUBE x 1232}1_2':%6_2 07 | o1 gggggg; 2 Nil Nil 11 |from '8 to '9' as per modification advice letter
3/8" BSPP ’ ’ no. ELDD/3610/Part-V dated 09.08.24 with
~« limmediate effect .
Qty. against C&D No.B309/279 have been
Male Connector (Nylon Tube) dial] 1209-18.406-108 01 B309/279 15 Nil Nil 17 increased from '12' to '15' as per modification
6 TUBE x 3/8" BSPT Ref.-2 Alt.-6 B309/280 2 advice letter no. ELDbﬁ@ 0/Part-V dated
09.08.24 with immediate effect .
s Moomdal ¥
7’%‘08‘ LL' 93.63-2¢ / o& 'J"’M \‘”
Prepared by Checked by Rev:ewed by Issug:j by
JE/D SSE/D SEE/Design Dy.CEE/D-IlI

(390



DOC NO:ELDD/3646 Pt.
DATE: 23.08.2024

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 11 of 12
AMENDMENT NO.: 1078

sL ary/ QTY/LOCO
NO PL.NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO CBDND REMARKS
WAG-9HC | WAP-7 | WAP-5
Qty. against C&D No0.B309/301 have been
3/8" Tube x 3/8" BSPT Male 1209-18.406-101 . ; increased from '4' to '6' as per modification
Elbow Rt A | O |PROREOTL B W = 6 |advice letter no. ELDD/3610/Part-V dated
09.08.24 with immediate effect .
Female Tee 3/8" BSPP 3/PLW/EL/SK-038 01 | B309/370 6 Nil Nil 6
Female Tee 1/2" BSPP 3/PLW/EL/SK-039 01 | B309/371 4 Nil Nil 4
Hex. Plug 3/8" BSPT 3/PLW/EL/SK-040 01 | B309/372 2 Nil Nil 2 Nigw CBEL ble, menersied ws'ar modifisstion
Hex. Plug 1/2" BSPT 3/PLW/EL/SK-041 | 01 | B309/373| 4 Nil Nil 4 ) - 9 P
Hox Nipble 3/8" BSPT x 3/8" advice letter no. ELDD/3610/Part-V dated
e P eBSPT A 3/PLW/EL/SK-042 | 01 |B309/374 4 Nil Nil 4 [09.08.24 with immediate effect .
Red Hex. Nipple 1/2"BSPT X | 45 \\/E/sK-043 | 01 |B309375| 2 Nil Nil 2
» 3/8" BSPT
All others remain same.
15 | 29235078 S/10/0013 CLW/MS/10/045 03 Nil Nil 1 Set
Clamps Alt. 2
Description have been changed and Qty.
" B304/059 17 against C&D No.B304/059 have been increased
e %tﬁthP l?/fs)D'A w 120:; 84421(;3?57 01 | B309/110| 190 Nil Nil 257 |from "15' to 17" as per modification advice letter
. ‘ ’ B309/129 50 no. ELDD/3610/Part-V dated 09.08.24 with
immediate effect .
All others remain same.
16 | 29175008 S/10/0003 CLWI/MS/10/014 Alt. 03 Nil Nil 1 Set
Polypropelene Components 3
B242/101 7 New C&D No.B309/376 have been generated
B304/060 38 ’ 5 as per modification advice letter no.
CUSHION - UNISTRUT 1209-18.406-117 22 B304/125 1 Nil Nil 46.1 « ELDD/3610/Part-V dated 09.08.24 with
B309/376 0.1 immediate effect .
All others remain same.

S M OM_DLQ«L
2.2 .08 Ly
Prepared by
JE/D

éiB-bB'ZV
Checked by

SSE/D

P

Soudrr,

Reviewed by

SEE/Design

g,\;,\?\‘”
Issued by
Dy.CEE/D-llI



Page 12 of 12

DOC NO:ELDD/3646 Pt. CATEGORY AMENDMENT FOR 3 PHASE LOCO

DATE: 23.08.2024 AMENDMENT NO.: 1078
st Qry/ QTY/LOCO
NO PL.NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO C&D NO REMARKS
WAG-9HC | WAP-7 | WAP-5
M/10/0003 CLW/MS/10/ 054 . .
17 | 29335360 Screw Hex. Head Alt. 5 03 Nil Nil 1 Set
Qty. against C&D No0.B309/215 have been
HEX. SCREW M 6x16x1P 1S: 1364 to 1S:1367,P- 01 B304/123 4 Nil Nil 10 increased from '4' to '6' as per modification
Zn. Plated (Passivated) 8.8 Gr.-A B309/215 6 advice letter no. ELDD/3610/Part-V dated

09.08.24 with immediate effect .

All others remain same.

M/10/0013 CLWI/MS/10/058 . .
18 | 29315153 Nyloc Nut Hex. Hd. Alt. 4 03 Nil Nil 1 Set

B242/053 130
B242/064 4
. B309/133 27

B331/004 10 Qty. against C&D No.B309/133 have been
129507 320098 B331/012 7 increased from '25' to '27' as per modification
FOPLIRE IR . e 1 F Ref"(‘mm 0051 82- | O1 1B3oart1s| 141 Wi o 395 | 2dvice letter no. ELDD/3610/Part-V dated
: B309/187 60 09.08.24 with immediate effect .

B304/124 8
B309/213 4
B304/160 4

All others remain same. J ﬂ
4

Copy to: . \PJ

1. CEE/LOCO 2.Dy.CME/ELA 3.Dy.CMM/M-I| 4. Dy.CMM/Depot 5. Dy.CEE/I&D/HWH 6. Dy.CEE/I&D/DLI 7. CQAM 8. SSE/Doc (Mech)

o oS
e S i 5

Prepared by Checked by Reviewed by Issued by
JE/D SSE/D SEE/Design Dy.CEE/D-lII



(
DOC NO:ELDD/3646 Pt. CATEGORY AMENDMENT FOR 3 PHASE LOCO

DATE: 23.08.2024

AMM/3PL
CLW/CRJ

Sub: Category Amendment for 3 phase Loco.

Page 1 of 1
AMENDMENT NO.: 1079

Please incorporate the following amendment sheet for the said loco. This is for your kind information and necessary action may please be taken from your end.
st ary/ QrY/LOCO
NO PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT| C&D NO CEDNO REMARKS
WAG-9HC | WAP-7 | WAP-5
S$/9/0050
Steel Pipe fittings for WAG-
1 29230366 e . QNN OsR 03 1 Set Nil Nil
9HC (Shell Piping) for CCB Alt.-15
% Brake System
Qty. against C&D No.T304/218 have been
R N 1209-18.406-021 T304/218 1 ; increased from 'Nil' to '1' as per modification
Lms i adie Ref. 2 ALT.4 01 | 13007426 | 1 4 NIt Nil . ladvice no. ELDD/3606/Part-IV dated 21.08:24
with immediate effect -
All others will remain same.
Copy to:
1. CEE/Loco 2.Dy.CME/ELA 3.Dy.CMM/M-II 4. Dy.CMM/Depot 5. Dy.CEE/I&D/HWH 6. Dy.CEE/I&D/DLI 7. CQAM 8. SSE/Doc (Mech)

W e :

1}03.9—‘1 W 2@[09(%2)1

Prepgred by Checked by Reviewed by
SSE/D SEE/Design

SSE/D

-

Issued by
Dy.CEE/D-llI

Gkt



AMM/3PL
CLW/CRJ

DOC NO:ELDD/3646 Pt.
DATE: 23.08.2024

Sub: Category Amendment for 3 phase Loco.

(

CATEGORY AMENDMENT FOR 3 PHASE LOCO

Page 1 of 2
AMENDMENT NO.: 1080

Please incorporate the following amendment sheet for the said loco. This is ior your kind in1 yrmation and necessary action may please be taken from your end.

SL
NO

PL. NO

CAT. NO. & DESCRIPTION

DRG/SPEC NO

UNIT

c&b
NO

Qry/
C&D NO

QTY/LOCO

WAG-9HC

WAP-7

WAP-5

REMARKS

29171027

R/9/0130
Complete Shell Assy for
WAG-9HC Locomotives

CLWIMS/3/152
Alt.10

03

1 Set

Nil

Nil

All others will remain same.

Note:

i) Inhouse target for 2024-25 = 270 Loco Sets (170
L/Set for conventional WAG-9HC + 100 L/Sets for
Twin Loco).

ii) Balance quantity from trade.

iii) Proposed target for 2025-26= 280 Loco Sets.
iv) Manufacturing shop= ELF.

This is as per modification advice no.
ELDD/3611/Superstructure dated 22.08.2024 and
PCME/CLW's L/No.Mech/2/EL(Prod.) dated 13.08.24
with immediate effect.

29100460

R/9/0104
Bolster Assy. for
WAG-9HC

CLWIMS/3/154
Alt-2

03

1 Set

Nil

Nil

All others will remain same.

Note:

i) Inhouse target for 2024-25 = 30 Loco Sets . 4
ii) Balance quantity from trade.

iii) Proposed target for 2025-26= 30 Loco Sets .

iv) Manufacturing shop = MFG.

v) Purchased quantities to be calculated by subtracting
the purchased qty of loco shell vide category
no.R/9/0130 from trade and subtracting the shop
capacity.

This is as per modification advice no.
ELDD/3611/Superstructure dated 22.08.2024 and
PCME/CLW's L/No.Mech/2/EL(Prod.) dated 13.08.24

700

Prepare
SSE/D

.o&‘q"f
y

ﬂ‘
Chec(e% by
SSE/D

Sk

SEE/Design

with immediate effect.
¥ oon

Issued by
Dy.CEE/D-llI



( (

DOC NO:ELDD/3646 Pt Page 2 of 2
CATEGORY AMENDMENT FOR 3 PHASE LOCO
DATE: 23.08.2024 AMENDMENT NO.: 1080
! QTY/LOCO
Sc| PLNO | CAT.NO.&DESCRIPTION | DRG/SPECNO |UNIT ol cg;\f ’ REMARKS
WAG-9HC | WAP-7 | WAP-5

Note:

i) Inhouse target for 2024-25 = 30 Loco Sets .

ii) Balance quantity from trade.

R/9/0102 iii) Proposed target for 2025-26= 30 Loco Sets .

3 | 28120240 | Head Stock Assy. FOR | CHVW/MSIIS4 1 1 Set Nil Nil V) Manufacturing shop = MFG.

WAG-9HC Alt-2 v) Purchased quantities to be calculated by subtracting
the purchased gty of loco shell vide category
no.R/9/0130 from trade and subtracting the shop
capacity.

This is as per modification advice no.
ELDD/3611/Superstructure dated 22.08.2024 and
PCME/CLW's L/No.Mech/2/EL(Prod.) dated 13.08.24
with immediate effect.

All others will remain same.

Copy to:
1.CEE/Loco 2.CME/Mfg. 3.Dy.CME/ELF 4.Dy.CMM/M-Il 5. Dy.CMM/Depct 6. Dy.CEE/I&D/HWH 7. Dy.CEE/I&D/DLI 8. CQAM 9. SSE/Doc (Mech)

{g)

Preé:m-bﬁ'” %\:’/\«)\ /(A};fj{“gf’m %"

d by Checked Reviewed by Issued by
SSE/D SSE/D SEE/Design Dy.CEE/D-IlI



DOC NO:ELDD/3646 Pt. - Page 1 of 1
ATEGORY AMENDMENT FOR 3 PHASE LOCO
DATE: 30.08.2024 - AMENDMENT NO.: 1081
AMM/3PL
CLW/CRJ

Sub: Category Amendment for 3 phase Loco.

Please incorporate the following amendment sheet for the said loco. This is for your kind information and necessary action may please be taken from your end.
QTY/LOCO
:; PL. NO CAT. NO. & DESCRIPTION DRG/SPEC NO UNIT CN&OD C:;Yl\{o WAG- REMARKS
.~ | WAP-7|wWAP-5
9HC
Note:
R/9/0140 i) Inhouse target for 2024-25 = 60 Loco Sets .
Bogie Frame Complete for | CLW/MS/3/BOGIE . [ii) Balance qty from trade.
1 = 3-Phase Co-Co Locomotive /003 Alt.3 w s L L iii) Proposed target for 2025-26= 60 Loco Sets.
*| (Type WAG-9HC & WAP-7) iv) Manufacturing shop will remain same.
Notes have been revised as per modification advice no.
ELDD/3751/Pt./129 Vol.3 dated 26.08.2024 issued by /p\
All others will remain same. Dy.CEE/D-I with immediate effect. \gj
Note:
R/9/0094 i) Inhouse Production target for the year 2024-2025 &
2 129100367 1209-01.415-007 Alt.2 | 01 12 12 Nil jonwards =150 loco sets. This is as per modification advice
Spacar letter no.ELDD/3751/Pt./129/Vol-3; dated 26.08.2024
issued by Dy.CEE/D-l with immediate effect. [
; A if) Manufacturing spares are taken@ 5% vide letter no
All others will remain same. ELDD/3751/CAT/116 DT 20.08.13
Note:
R/9/0091 i) Inhouse Production target for the year 2024-2025 &
3 129100380 Torque Support for 03 1Set | 1Set| Nil Jonwards = 150 loco sets.This is as per modification advice
WAG-9HC/WAP-7 letter no.ELDD/3751/Pt./129/Vol-3;dated 26.08.2024 issued
by Dy.CEE/D-I with immediate effect.
if) Manufacturing spares are taken@ 5% vide letter no
All others will remain same. ELDD/3751/CAT/116 DT 20.08.13
Copy to:

1.CEB/loco 2.CME/Mfg  3.Dy.CME/ELB 4.Dy.CMM/M-Il 5. Dy.CMM/Depot 6. Dy.CEE/SD/HWH 7. Dy.CEE/SD/DLI 8, CQAM 9. SSE/Doc (Mech)

Q g W ¢ G
ﬁ/ 38.08. A4 % ﬂ}‘\ } '_D,o{"&;')tyﬂ, /},\éfwﬁ
Prepared by ChecCked by Reviewed by Issued by

SSE/D SSE/D SEE/Design Dy.CEE/D-III



